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HENIEBRER EEEERRE
1. FMISHEE AMREHER
(1) BERE B A
0% 1% 2 % 3 % 4% 5% =k
F[H 108 216 246 331 264 355 1,520
(2) BEMRE (EANFIRRER BAL: A
4 A 5 A 6 A 1R 8 A 98
19 : 00 133 145 135 121 82 109
20 : 00 26 17 23 21 26 28
10 A 1A 12 R 1A 2 A 3 A B85
19 : 00 155 118 137 100 105 121 1, 461
20 : 00 28 21 26 26 20 20 288
2. SMAEE AFREHEERUVERRAHA
(1) BERE BA: A
0% 1 % 2% 3 & 4% 5% aF
4 H 8 16 18 19 30 21 112
5A 1 18 20 20 30 22 117
6 A 1 18 20 20 30 24 119
7R 8 17 21 20 30 24 120
8 A 8 18 21 20 30 24 121
9A 12 18 21 20 30 24 125
10R 12 18 21 20 30 24 125
11A 12 18 21 20 30 24 125
12A 12 18 21 20 30 24 125
1R 12 18 21 20 30 24 125
2R 12 18 21 20 30 24 125
3H 12 18 21 20 30 24 125
a &t 122 213 247 239 360 283 1,464
XIZERERE - EREZEEDREE
X10 AETIEERE. 11 AURITRRAH
(2) BESMRE ENFIRRER) BHL: A
4 A oA 6 A 1R 8 A 9A
19 : 00 89 103 99 99 116 127
20 : 00 23 36 35 33 41 62
10 A 1A 12 B 1A 2 A 3 A 85
19 : 00 100 100 100 100 100 100 1,233
20 : 00 35 35 35 35 35 35 440
X9 AFTIXEME. 10 ALRRERAH
3. KERBEFAEE
TH2FE TH3FE T4 FE
170 146 150
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4. RELTEEREE
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